Fixed Point Theory, 16(2015), No. 2, 337-342 http://www.math.ubbcluj.ro/~nodeacj/sfptcj.html

CHARACTERIZATIONS OF COMMON FIXED POINTS OF ONE-PARAMETER NONEXPANSIVE SEMIGROUPS

YINGXIN GUO* AND MINGZHI XUE**

*School of Mathematical Sciences, Qufu Normal University Qufu, Shandong 273165, P.R. China E-mail: yxguo312@163.com

**Department of Mathematics, Shangqiu Normal University Shangqiu 476000, Henan, P.R. China E-mail: whl2762@163.com

Abstract. We prove characterizations of common fixed points of one-parameter nonexpansive semigroups. These results are sharper than some previous results.
Key Words and Phrases: Nonexpansive semigroup, common fixed point, convergence theorem.
2010 Mathematics Subject Classification: 47H09, 47H10, 47H20.

1. INTRODUCTION

Throughout this paper we denote by N the set of all positive integers. For a real number t, we denote by [t] the maximum integer not exceeding t.

Let E be a real Banach space. We denote by E^* the dual of E. Let T be a nonexpansive mapping on a subset C of E, i.e., $||Tx - Ty|| \le ||x - y||$ for all $x, y \in C$. F(T) is denoted by the set of all fixed points of T. In 1965, Kirk [1] proved that T has a fixed point when C is weakly compact and convex, and has normal structure. See also [4,6,11,12] and others. C is said to have the fixed point property for nonexpansive mappings (FPP, for short) if for every bounded closed convex subset D of C, every nonexpansive mapping on D has a fixed point. That is, a weakly compact convex subset C with normal structure has FPP.

A family of mappings $\{T(t) : t \ge 0\}$ is called a one-parameter strongly continuous semigroup of nonexpansive mappings (nonexpansive semigroup, for short) on C if the following are satisfied:

(A1) for each $t \ge 0, T(t)$ is a nonexpansive mapping on C;

(A2) $T(s+t) = T(s) \circ T(t)$ for all $s, t \ge 0$;

(A3) for each $x \in C$, the mapping $t \mapsto T(t)x$ from $[0, \infty)$ into C is continuous.

Bruck's famous fixed point theorem in [8] yields that $\{T(t) : t \ge 0\}$ has a common fixed point when C is weakly compact and convex, and has FPP. See also Browder [6]. A remarkable application of fixed-point theorems is to prove the existence of fixed-points in best approximation (see [3-5]), which has special significance for the spaces

337

that are not strictly convex (see [5]). As generalization of fixed-points, common fixedpoints of two maps f and g satisfying some contractive or nonexpansive type condition have been studied by many authors and applied to various problems, especially to those associated with best approximation; see [2-5,13] and others.

Let C be a closed convex subset of a Banach space E and T a nonexpansive mapping of C into itself. Halpern [3] introduced the following iterative scheme for approximating a fixed point of T :

$$x_{n+1} = \alpha_n x + (1 - \alpha_n) T x_n \tag{1.1}$$

for all $n \in N$, where $x_1 = x \in C$ and $\{\alpha_n\}$ is a sequence of [0, 1]. In [11], the authors introduce the following iterative sequence:

$$x_{n+1} = \alpha_n x + (1 - \alpha_n) T_n x_n$$
 (1.2)

for all $n \in N$, where $x_1 = x \in C$ and $\{\alpha_n\}$ is a sequence of [0, 1], C is a nonempty closed convex subset of a Banach space, and $\{T_n : n \in N\}$ is a sequence of nonexpansive mappings with some conditions.

In this paper, motivated by these results related to Halpern type iterative schemes, we introduce the following iterative sequence:

$$x_{n+1} = \alpha_n P x_n + (1 - \alpha_n) Q x_n \tag{1.3}$$

for all $n \in N$, where $x_1 \in C$ and $\{\alpha_n\}$ is a sequence of [0, 1], $Px = \int_0^\tau \eta(s)T(s)xds$, $Qx = \sum_{j=1}^\infty \theta(j)T(\tau_j)x$, $\{T(t) : t \ge 0\}$ is a sequence of nonexpansive mappings, and C is a nonempty closed convex subset of a Banach space E. Then we prove that $\{x_n\}$ defined by (1.3) converges strongly to a common fixed point of $\{T(t) : t \ge 0\}$. Further we apply our result to the problem of finding a common fixed point of a countable or uncountable family of nonexpansive mappings.

2. Main results

In this section, using the Bochner integral, we present characterizations of common fixed points of nonexpansive semigroups.

Theorem 2.1. Let $\{T(t) : t \ge 0\}$ be a nonexpansive semigroup on a subset C of a Banach space E. Let η be a continuous function from $[0, \tau]$ into $[0, \infty)$ such that $\int_0^\tau \eta(s)ds = \alpha$, where τ is some positive real number, and let $\{\tau_j\}$ be a sequence in $[0, \infty)$ such that the closure of the set $\{\tau_j : j \in N\}$ is $[0, \tau]$. Let θ be a function from N into $[0, \infty)$ satisfying $\sum_{j=1}^\infty \theta(j) = \beta$. Let $Px = \int_0^\tau \eta(s)T(s)xds, Qx =$ $\sum_{j=1}^\infty \theta(j)T(\tau_j)x$. Define a nonexpansive mapping S from C into E by

$$Sx = Px + Qx = \int_0^\tau \eta(s)T(s)xds + \sum_{j=1}^\infty \theta(j)T(\tau_j)x$$
 (2.1)

for $x \in C$. If $\alpha + \beta = 1$, then

$$F(S) = \bigcap_{t \ge 0} F(T(t)) \tag{2.2}$$

holds.

Proof. We note that S is well defined because of (A3). For $x, y \in C$, we have

$$\|Sx - Sy\| = \left\| \int_0^\tau \eta(s) \Big(T(s)x - T(s)y \Big) ds + \sum_{j=1}^\infty \theta(j) \Big(T(\tau_j)x - T(\tau_j)y \Big) \right\|$$

$$\leq \int_0^\tau \eta(s) \|T(s)x - T(s)y\| ds + \sum_{j=1}^\infty \theta(j) \|T(\tau_j)x - T(\tau_j)y\|$$

$$\leq \int_0^\tau \eta(s) \|x - y\| ds + \sum_{j=1}^\infty \theta(j) \|x - y\|$$

$$= (\alpha + \beta) \|x - y\| = \|x - y\|,$$

and hence S is nonexpansive. We first show that

$$F(S) \supset \bigcap_{t \ge 0} F(T(t)).$$
(2.3)

Let $x \in \bigcap_{t \ge 0} F(T(t))$, then

$$Sx = \int_0^\tau \eta(s)T(s)xds + \sum_{j=1}^\infty \theta(j)T(\tau_j)x = \int_0^\tau \eta(s)xds + \sum_{j=1}^\infty \theta(j)x$$
$$= \alpha x + \beta x = x$$

then $x \in F(s)$, so (2.3) holds.

In the following, we prove the converse inclusion. Let $z \in C$ be a fixed point of S. Since $\{T(t)z : t \in [0, \tau]\}$ is compact, there exists $\mu \in [0, \tau]$ such that

$$||T(\mu)z - z|| = \max_{t \in [0,\tau]} ||T(t)z - z||.$$

We assume $\delta := ||T(\mu)z - z|| > 0$. From the Hahn-Banach theorem, there exists $f \in E^*$ with

$$||f|| = 1$$
 and $f(T(\mu)z - z) = ||T(\mu)z - z|| = \delta.$

Since $t \mapsto T(t)z$ is continuous, there exist $\mu_1, \mu_2 \in [0, \tau]$ with

$$\mu_1 < \mu_2, \mu \in [\mu_1, \mu_2]$$
 and $||T(\mu)z - T(t)z|| \le \delta/2$

for $t \in [\mu_1, \mu_2]$. Then we have

$$\begin{split} \delta &= \|T(\mu)z - z\| = f(T(\mu)z - z) = f(T(\mu)z - Sz) \\ &= \int_{0}^{\tau} \eta(s)f(T(\mu)z - T(s)z)ds + \sum_{j=1}^{\infty} \theta(j)f(T(\mu)z - T(\tau_{j})z) \\ &\leq \int_{0}^{\tau} \eta(s)\|T(\mu)z - T(s)z\|ds + \sum_{j=1}^{\infty} \theta(j)\|T(\mu)z - T(\tau_{j})z\| \\ &= \int_{0}^{\mu_{1}} \eta(s)\|T(\mu)z - T(s)z\|ds + \sum_{j=1}^{\mu_{2}} \eta(s)\|T(\mu)z - T(s)z\|ds \\ &+ \int_{\mu_{2}}^{\tau} \eta(s)\|T(\mu)z - T(s)z\|ds + \sum_{j \in [\mu_{1}, \mu_{2}]} \\ &+ \sum_{j \in [0, 1]} \{\theta(j)\|T(\mu)z - T(\tau_{j})z\| : \tau_{j} \notin [\mu_{1}, \mu_{2}]\} \\ &= \int_{0}^{\mu_{1}} \eta(s)\|T(x) \circ T(\mu - s)z - T(s)z\|ds + \int_{\mu_{1}}^{\mu_{2}} \eta(s)\|T(\mu)z - T(s)z\|ds \\ &+ \int_{\mu_{2}}^{\tau} \eta(s)\|T(\mu)z - T(\tau_{j})z\| : \tau_{j} \in [\mu_{1}, \mu_{2}]\} \\ &= \int_{0}^{\mu_{1}} \eta(s)\|T(\mu)z - T(\tau_{j})z\| : \tau_{j} \notin [\mu_{1}, \mu_{2}]\} \\ &+ \sum_{j \in [0, 1]} \{\theta(j)\|T(\mu)z - T(\tau_{j})z\| : \tau_{j} \notin [\mu_{1}, \mu_{2}]\} \\ &\leq \int_{0}^{\mu_{1}} \eta(s)\|T(\mu - s)z - z\|ds + \int_{\mu_{1}}^{\mu_{2}} \eta(s)\frac{\delta}{2}ds + \int_{\mu_{2}}^{\tau} \eta(s)\|T(s - \mu)z - z\|ds \\ &+ \sum_{j \in [0, 1]} \{\theta(j)\frac{\delta}{2} : \tau_{j} \in [\mu_{1}, \mu_{2}]\} + \sum_{j \in [0, 1]} \{\theta(j)\|T(|\mu\tau_{j}|)z - z\| : \tau_{j} \notin [\mu_{1}, \mu_{2}]\} \\ &\leq \int_{0}^{\mu_{1}} \eta(s)\delta ds + \int_{\mu_{1}}^{\mu_{2}} \eta(s)\frac{\delta}{2}ds + \int_{\mu_{2}}^{\tau} \eta(s)\delta ds + \sum_{j \in [\mu_{1}, \mu_{2}]} \\ &\leq \alpha\delta - \frac{\delta}{2} \int_{\mu_{1}}^{\mu_{2}} \eta(s)ds + \beta\delta - \frac{\delta}{2} \sum_{j \in [0, 1]} \{\theta(j) : \tau_{j} \in [\mu_{1}, \mu_{2}]\} \\ &= (\alpha + \beta)\delta - \frac{\delta}{2} \left(\int_{\mu_{1}}^{\mu_{2}} \eta(s)ds + \sum_{j \in [0, 1]} \{\theta(j) : \tau_{j} \in [\mu_{1}, \mu_{2}]\} \right) \\ &< \delta. \end{split}$$

This is a contradiction. Therefore $\delta = 0$. This implies that z is a common fixed point of $\{T(t) : t \ge 0\}$. This completes the proof.

As a direct consequence of Theorem 2.1, we obtain the following: **Corollary 2.1.** Let $\{T(t) : t \ge 0\}$ be a sequence of nonexpansive mappings, and C a nonempty closed convex subset of a Banach space E, then the following iterative sequence:

$$x_{n+1} = \alpha_n P x_n + (1 - \alpha_n) Q x_n \tag{2.4}$$

340

converges strongly to a common fixed point of $\{T(t) : t \ge 0\}$, where $x_1 \in C$ and $\{\alpha_n\}$ is a sequence of [0, 1], $Px = \int_0^\tau \eta(s)T(s)xds$, $Qx = \sum_{j=1}^\infty \theta(j)T(\tau_j)x$.

Corollary 2.2. Let $\{T(t) : t \ge 0\}$ be a nonexpansive semigroup on a subset C of a Banach space E and Let γ be an irrational number. Fix $\tau > 0$ and define a nonexpansive mapping S from C into E by

$$Sx = \frac{1}{2\tau} \int_0^\tau T(s) x ds + \sum_{j=1}^\infty \frac{1}{2^{j+1}} T(j\gamma - [j\gamma]\tau) x$$
(2.5)

for $x \in C$. Then (2.2) holds.

If we let $\alpha = 1, \beta = 0$ in Theorem 2.1, we obtain the following:

Corollary 2.3. Let $\{T(t) : t \ge 0\}$ be a nonexpansive semigroup on a subset C of a Banach space E. Fix $\tau > 0$ and define a nonexpansive mapping S from C into E by

$$Sx = \frac{1}{\tau} \int_0^\tau T(s) x ds \tag{2.6}$$

for $x \in C$. Then (2.2) holds.

If we let $\alpha = 0, \beta = 1$ in Theorem 2.1, we obtain the following:

Corollary 2.4. Let $\{T(t) : t \ge 0\}$ be a nonexpansive semigroup on a subset C of a Banach space E and let γ be an irrational number. Fix $\tau > 0$ and define a nonexpansive mapping S from C into E by

$$Sx = \sum_{j=1}^{\infty} \frac{1}{2^j} T(j\gamma - [j\gamma]\tau)x$$
(2.7)

for $x \in C$. Then (2.2) holds.

Remark 2.1. In this paper, we introduce the following iterative sequence:

$$x_{n+1} = \alpha_n P x_n + (1 - \alpha_n) Q x_n$$

which is sufficiently general to cover and improve the two following iterative sequences:

$$x_{n+1} = \lambda P x_n + (1 - \lambda) x_n, \tag{2.8}$$

$$x_{n+1} = \alpha_n x_n + (1 - \alpha_n) T_n x_n$$
(2.9)

by letting Q = I and P = I respectively, where I denotes the identity map. Note that (2.8) was introduced in Theorem 5 in [12] and (2.9) in Theorem 3.4 in [11]. In fact, by Theorem 2.1, if we write $T_n = \sum_{j=1}^n \theta(j)T(\tau_j)$, we can easily obtain the iterative sequence (2.9). Therefore, our results in this paper generalize the results in [11,12].

References

- W.A. Kirk, A fixed point theorem for mappings which do not increase distances, Amer. Math. Monthly, 72(1965), 1004-1006.
- W.K. Bartoszek, C. Chinhanu, Best approximation, invariant measures, and fixed points, J. Approx. Theory, 107(2000), 79-86.
- [3] B. Brosowski, Fixpunktsatze in der Approximationstheorie, Mathematica (Cluj), 11(1969), 195-220.
- [4] L. Habiniak, Fixed point theorems and invariant approximation, J. Approx. Theory, 56(1989), 241-244.

YINGXIN GUO AND MINGZHI XUE

- [5] T.L. Hicks, M.D. Humphries, A note on fixed point theorems, J. Approx. Theory, 34(1982), 221-225.
- [6] F.E. Browder, Nonexpansive nonlinear operators in a Banach space, Proc. Natl. Acad. Sci. USA, 54(1965), 1041-1044.
- [7] F.E. Browder, Convergence of approximants to fixed points of nonexpansive nonlinear mappings in Banach spaces, Arch. Ration. Mech. Anal., 24(1967), 82-90.
- [8] R.E. Bruck, A common fixed point theorem for a commuting family of nonexpansive mappings, Pacific J. Math., 53(1974), 59-71.
- [9] T. Suzuki, On strong convergence to common fixed points of nonexpansive semigroups in Hilbert spaces, Proc. Amer. Math. Soc., 131(2003), 2133-2136.
- [10] B. Halpern, Fixed points of nonexpanding maps, Bull. Amer. Math. Soc., 73(1967), 957-961.
- [11] Koji Aoyamaa et al., Approximation of common fixed points of a countable family of nonexpansive mappings in a Banach space, Nonlinear Analysis, 67(2007), 2350-2360.
- [12] T. Suzuki, Characterizations of common fixed points of one-parameter nonexpansive semigroups, and convergence theorems to common fixed points, J. Math. Anal. Appl., 324(2006), 1006-1019.
- [13] M.A. Al-Thagafi, Common fixed points and best approximation, J. Approx. Theory, 85(1996), 318-323.
- [14] S. Ishikawa, Fixed points and iteration of a nonexpansive mapping in a Banach space, Proc. Amer. Math. Soc., 59(1976), 65-71.
- [15] M.A. Krasnosel'skii, Two remarks on the method of successive approximations, Uspekhi Mat. Nauk, 10(1955), 123-127 (in Russian).
- [16] W.R. Mann, Mean value methods in iteration, Proc. Amer. Math. Soc., 4(1953), 506-510.

Received: January 30, 2013; Accepted: October 15, 2015.

342